
  Maths 3rd ESO 
 

EXAM UNIT 5  (EQUATIONS) 
 

Name:..................................................................................................................... 
 
1) Solve the following equations:      (5 points) 
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  Maths 3rd ESO 
 
2) Solve the following equations:     (4 points) 
 
a.  04x12x9 2 =+−   
 
 
 
 
 
b. 09x4 2 =−  
 
 
 
 
 
 
c.  x81x24x 22 =−−+ )()(  
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3) Translate into an equation:           (1 point) 
 

a. Ten subtracted from five times a number is equal to twenty. 
 
 
b. One third of a number minus four is equal to seventeen. 
 
 
c. A number plus three, all multiplied by eight is equal to forty-eight.   
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SOLUTION 

 
1) Solve the following equations:         
a.  x3x21x27x3x2 −−=−++− )()(  

→−−=−+−− x6x21x221x3x2 1216xx2x2x3x2 ++−=+−+−  
→= 16x0 No solution  
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30x30x6152638x6 ==→=→+−++=    Solution: x = 5 
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0x011xx4x3 =→−=+−  It is an identity Solution: all numbers 
 
2) Solve the following equations:     
a.  04x12x9 2 =+−   

3
2

18
12

18
14414412

92
4941212x

2
==

−±
=

⋅
⋅⋅−−±

=
)(

 Solution: 
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c.  x81x24x 22 =−−+ )()( x81x4x416x8x 22 =+−−++→ )()(  
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         Solution: 3 and 
3
5
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d. 
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3) Translate into an equation:            
 

d. Ten subtracted from five times a number is equal to twenty. 
2010x5 =−  

 
e. One third of a number minus four is equal to seventeen. 

174
3
x
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f. A number plus three, all multiplied by eight is equal to forty-eight.   

483x8 =+ )(  
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